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(c) ykMZ psEliQksMZ & johUnz ukFk VSxksj dks
ukscsy iqjLdkj

(d) ykMZ ysalMkmu & bykgkckn fo'ofo|ky;
dh LFkkiuk

111. fuEufyf[kr dFkuksa ij fopkj dhft, rFkk fn,
x, dwV dh lgk;rk ls lgh mÙkj crk;sa&

dFku (A)% fpyh ukbVsªV dk lcls cM+k mRiknd
gSA

dkj.k (R)% ;gk¡ fLFkr pqDdhdekVk iBkj esa
ukbVªsV ds Hk.Mkj gSaA

dwV%

(a) (A) rFkk (R) nksuksa lgh gSa rFkk (R)] (A) dh
lgh O;k[;k djrk gSA

(b) (A) rFkk (R) nksuksa lgh gSa rFkk (R)] (A) dh
lgh O;k[;k ugha djrk gSA

(c) (A) lgh gS ijUrq (R) xyr gSA

(d) (A) xyr gS ijUrq (R) lgh gSA

112. dsjy esa fLFkr fuEufyf[kr ufn;ksa esa ls dkSu lh
iwoZ dh vksj izokfgr gksrh gS\

(a) ikeckj (b) Hkokuh

(c) dckuh (d) mijksDr lHkh

113. fuEufyf[kr dFkuksa ij fopkj dhft, rFkk fn,
x, dwV dh lgk;rk ls lgh mÙkj nsa&

1- baVjVªkWfidy daojtsal tksu Hkweè; js[kk ij
fLFkr gSA

2- ;g ,d fuEu ok;qnkc isVh gSA

dwV&

(a) dsoy 1 (b) dsoy 2

(c) 1 rFkk 2 nksuksa (d) u rks 1 u gh 2

114. fuEufyf[kr ;qXeksa es ls dkSu lk ,d lqesfyr
ugh gSa\

('kfDr ifj;kstuk) (jkT;)

(a) tokgj lkxj & jktLFkku

(c) Lord Chemsford– Nobel Prize to

Ravindra Nath Tagore

(d) Lord Lensdown– Establishment of

Allahabad Univ.

111.Consider the following statements and
choose the correct answer with the help
of the codes given below :

Assertion (A): Chile is the largest producer
of Nitrate.

Reason (A):  Chuquicamata plateau
situated here has the reserves of Nitrate.

Code:
(a) Both (A) and (R) are correct, (R) is the

correct explanation of (A)

(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A)

(c) (A) is correct but (R) is incorrect

(d) (A) is incorrect but (R) is correct.

112.Which of the following rivers situated in
Kerala, flow towards east ?

(a) Pambar (b) Bhawani

(c) Kabini (d) All of the above

113.Consider the following statements and
given the correct answer with the help of
given code :

1. Intertropical Convergence Zone is
situated at the equator.

2. It is a low airpressor belt.

Code :

(a) Only 1 (b) Only 2

(c) 1 and 2 Both (d) Neither 1 nor 2

114.Which one of the following pair is not
correctly matched?

(Power Project) (State)

(a) Jawahar Sagar – Rajasthan


